Jefferson County Public Schools

JETTERSOTT COUNTY PUBLIC SCITIONS
BIOL TODUISTON
Event Name: FURNITURE, CLASSROOM & OFFICE (UNE ITEM)
Event ID: JCPS-4887
Approval Date: November 18, 2025
Date Bids Received: September 22, 2025
Contract Period: November 18, 2025 - November 9, 2026
Renewals: No renewal options

omments.	Award Statu	c indicator	an award

Item Number	Item/Service	Description	Commodity Code	иом	Quantity		Manufacturer / Provider	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
001	Cabinet, storage, metal, combination, 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #GA21361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1702628	1 Each	20	School Specialty	1363921	\$346.5000	\$6,930.0000	Colors: Black, Blue, Charcoal, Dove Gray, Putty, and Red	Awarded	
001	Cabinet, storage, metal, combination, 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CAC1361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1702628	1 Each	20	Kurtz Bros	Sandusky Lee CAC1361872	\$567.1300	\$11,342.6000	Currently available colors: Textured Red 01, Charcoal 02, Dove Grey 05, Blue 06, Putty 07, Textured Back 09		
001	Cabinet, storage, metal, combination, 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CAC1361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1702628	1 Each	20	Kerr Office Group						
001	Cabinet, storage, metal, combination, 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CAC1361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1702628	1 Each	20	Munson Business Interiors	No Bid					
001	Cabinet, storage, metal, combination, 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CAC1361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1702628	1 Each	20	Nu-Idea School Supply						
001	Cabinet, storage, metal, combination, 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CAC1361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1702628	1 Each	20	School Outfitters						
001	Cabinet, storage, metal, combination, 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CAC1361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1702628	1 Each	20	Tom Sexton						
002	Cabinet, storage, metal, plain 36"W x 18"D x 72"H.	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1665392		50	School Specialty	1362506	\$343.9300	\$17,196.5000	Colors: Black, Blue, Charcoal, Dove Gray, Putty, and Red	Awarded	
002	Cabinet, storage, metal, plain 36"W x 18"D x 72"H.	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1665392	1 Each	50	Kurtz Bros	Sandusky Lee CA41361872	\$544.1300	\$27,206.5000	Currently available colors: Textured Red 01, Charcoal 02, Dove Grey 05, Blue 06, Putty 07, Textured Back 09		
002	Cabinet, storage, metal, plain 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CA41361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1665392	1 Each	50	Kerr Office Group						

002	Cabinet, storage, metal, plain 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CA4136.1872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1665392	1 Each	50	Munson Business Interiors	No Bid				
002	Cabinet, storage, metal, plain 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CA41361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1665392	1 Each	50	Nu-Idea School Supply					
002	Cabinet, storage, metal, plain 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CA41361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1665392	1 Each	50	School Outfitters					
002	Cabinet, storage, metal, plain 36"W x 18"D x 72"H.	Sandusky Lee Classic Series #CA41361872-XX. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1665392	1 Each	50	Tom Sexton					
003	Chair, combination desk, 17 1/2" - 18".	Arto-Bell #D75AB or equal. HARDWARE SAMPLE REQUIRED. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available work surface and seat colors.	4600250-1722008	1 Each	400	School Specialty	5009313	\$162.9500	\$65,180.0000	Laminate: Asian Night, Bannister Oak, Battleship, Black, Blackbird, Blue Curacao, Candy Apple, Chrome Yellow, Classic Linen, Dove Gray, Dragon Fire, Florence Walnut, French Pear, Fresh Cut, Fusion Maple, Grape, Graphite Nebula, Gray Elin, Gray Nebula, Green, High Rise, Island, Kingswood Walnut, Magnolia, Montana Walnut, Moroccan, Navy, Nepal Teak, New Age Oak, Ocean, Ornage, Pewter Mesh, Pinnacie Walnut, Portico Teak, Red, River Cherry, Robin, Royal Blue, Steel Mesh, Sunny, and Wild Cherry Seat: Cardinal, Claret, Ebony, Forest, Imperial, Marine, Shamrock, Slate, and Sunflower	
003	Chair, combination desk, 17 1/2" - 18".	Artco-Bell #D75AB or equal. HARDWARE SAMPLE REQUIRED. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available work surface and seat colors.	4600250-1722008	1 Each	400	Tom Sexton	Artcobell - D75AB	\$196.2500	\$78,500.0000	Factory Standard Colors Awarded	
003	Chair, combination desk, 17 1/2" - 18".	Artco-Bell #D75AB or equal. HARDWARE SAMPLE REQUIRED. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available work surface and seat colors.	4600250-1722008	1 Each	400	Kerr Office Group					
003	Chair, combination desk, 17 1/2" - 18".	Artco-Bell #D75AB or equal. HARDWARE SAMPLE REQUIRED. Please respond to the following in the VENDOR RESPONSE ITEM MOTES field: List available work surface and seat colors.	4600250-1722008	1 Each	400	Kurtz Bros				No Bid	
003	Chair, combination desk, 17 1/2" - 18".	Artco-Bell #D75AB or equal. HARDWARE SAMPLE REQUIRED. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available work surface and seat colors.	4600250-1722008	1 Each	400	Munson Business Interiors	No Bid				
003	Chair, combination desk, 17 1/2" - 18".	Artco-Bell #D75AB or equal. HARDWARE SAMPLE REQUIRED. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available work surface and seat colors.	4600250-1722008	1 Each	400	Nu-Idea School Supply					
003	Chair, combination desk, 17 1/2" - 18".	Artco-Bell #D75AB or equal. HARDWARE SAMPLE REQUIRED. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available work surface and seat colors.	4600250-1722008	1 Each	400	School Outfitters					
004	Chair, office task, swivel base with casters, adjustable arms, synchro- tilt, black mesh back, padded seat , black fabric.	APPROVED PRODUCT: 9 to 5 Seating @nce #205, 24 hr quick ship program. NO SUBSTITUTE.	4600250-1717548	1 Each	50	Munson Business Interiors	9TO5 205	\$234.2500	\$11,712.5000	9toS Seating - T01 Black Seat, A205 Adjustable Arms, Y1 Simple Synchro Tilt https://9toSseating.com/product-detail/?chair_id=163	

											1	
004	Chair, office task, swivel base with casters, adjustable arms, synchro- tilt, black mesh back, padded seat , black fabric.	APPROVED PRODUCT: 9 to 5 Seating @nce #205, 24 hr quick ship program. NO SUBSTITUTE.	4600250-1717548	1 Each	50	Kerr Office Group	9 TO 5 205	\$279.9500	\$13,997.5000			
004	Chair, office task, swivel base with casters, adjustable arms, synchro- tilt, black mesh back, padded seat , black fabric.	APPROVED PRODUCT: 9 to 5 Seating @nce #205, 24 hr quick ship program. NO SUBSTITUTE.	4600250-1717548	1 Each	50	Kurtz Bros				No Bid		
004	Chair, office task, swivel base with casters, adjustable arms, synchro- tilt, black mesh back, padded seat , black fabric.	APPROVED PRODUCT: 9 to 5 Seating @nce #205, 24 hr quick ship program. NO SUBSTITUTE.	4600250-1717548	1 Each	50	Nu-Idea School Supply						
004	Chair, office task, swivel base with casters, adjustable arms, synchro- tilt, black mesh back, padded seat , black fabric.	APPROVED PRODUCT: 9 to 5 Seating @nce #205, 24 hr quick ship program. NO SUBSTITUTE.	4600250-1717548	1 Each	50	School Outfitters						
004	Chair, office task, swivel base with casters, adjustable arms, synchro- tilt, black mesh back, padded seat , black fabric.	APPROVED PRODUCT: 9 to 5 Seating @nce #205, 24 hr quick ship program. NO SUBSTITUTE.	4600250-1717548		50	School Specialty	No Bid					
004	Chair, office task, swivel base with casters, adjustable arms, synchro- tilt, black mesh back, padded seat , black fabric.	APPROVED PRODUCT: 9 to 5 Seating @nce #205, 24 hr quick ship program. NO SUBSTITUTE.	4600250-1717548	1 Each	50	Tom Sexton						
005	Desk, student, open front, with metal book compartment, adjustable pedestals.	Scholarcraft #SCZ800FB or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for top.	4600250-1717560	1 Each	600	School Outfitters	Learniture - LNT-0027- SO	\$151.0000	\$90,600.0000	See Additional Details page and Specification Sheets with more information		Reject - does not meet specifications.
005	Desk, student, open front, with metal book compartment, adjustable pedestals.	Scholarcraft #SC7800FB or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for top.	4600250-1717560	1 Each	600	School Specialty	1497106	\$161.9400	\$97,164.0000	Hard Plastic: Beach, Dark Walnut, Golden Oak, Gray Nebula, Light Gray, Mahogany, Pomegranate, Sprout, Sugar Maple, Vapor Strandz, and Wild Cherry		Reject - does not meet specifications.
005	Desk, student, open front, with metal book compartment, adjustable pedestals.	Scholarcraft #SC7800FB or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for top.	4600250-1717560	1 Each	600	Kurtz Bros	Scholar Craft SC7800FB	\$239.0000	\$143,400.0000	Currently availlable colors: Grey Nebula, Grace Glace, Walnut, Nepal Teak, Wild Cherry, Maple	Awarded	
005	Desk, student, open front, with metal book compartment, adjustable pedestals.	Scholarcraft #SC7800FB or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for top.	4600250-1717560	1 Each	600	Nu-Idea School Supply	Scholar Craft #SC7800FB	\$274.0000	\$164,400.0000	Light Oak, Grey Nebula, Walnut, Maple, Wild Cherry & Nepal Teak		
005	Desk, student, open front, with metal book compartment, adjustable pedestals.	Scholarcraft #SC7800FB or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for top.	4600250-1717560	1 Each	600	Kerr Office Group						
005	Desk, student, open front, with metal book compartment, adjustable pedestals.	Scholarcraft #SC7800FB or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for top.	4600250-1717560	1 Each	600	Munson Business Interiors	No Bid					

									r	T		
005	Desk, student, open front, with metal book compartment,	Scholarcraft #SC7800FB or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for	4600250-1717560	1 Each	600	Tom Sexton						
	adjustable pedestals.	top.										
200	B 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Hon #H105892. NO SUBSTUTUTE. Please respond to the following in	4500050 4704005	45.1	40	, om o		4050 0500	424 700 0000			
006	Desk, teacher's, wood laminate, double full pedestal, 60" x 30" x 29	the VENDOR RESPONSE ITEM NOTES field: List available finishes.	4600250-1724325	1 Each	40	Kerr Office Group	HON H105982	\$869.9500	\$34,798.0000	Laminates: BourbonCherry, Cognac, FieldElm, FlorenceWalnut, Harvest, KingswoodWalnut, Mahogany, Mocha, NaturalMaple, Pinnacle, ShakerCherry,	Awarded	
	1/2".	the VENDOR RESPONSE TERM NOTES field. Est available infisites.								SterlingAsh, Black, Charcoal, DesignerWhite, Loft. Patterned Top: HandspunChestnut,		
										HandspunDove, HandspunPearl, HandspunSlate, SilverMesh.		
006		Hon #H105892. NO SUBSTUTUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available finishes.	4600250-1724325	1 Each	40	Kurtz Bros				No Bid		
	double full pedestal, 60" x 30" x 29 1/2".	the VENDOR RESPONSE ITEM NOTES field: List available finishes.										
	3,2 .											
006	Desk, teacher's, wood laminate,	Hon #H105892. NO SUBSTUTUTE. Please respond to the following in	4600250-1724325	1 Each	40	Munson Business	No Bid					
	double full pedestal, 60" x 30" x 29 1/2".	the VENDOR RESPONSE ITEM NOTES field: List available finishes.				Interiors						
	1/2 .											
006	Desk, teacher's, wood laminate,	Hon #H105892. NO SUBSTUTUTE. Please respond to the following in	4600250-1724325	1 Each	40	Nu-Idea School						
	double full pedestal, 60" x 30" x 29	the VENDOR RESPONSE ITEM NOTES field: List available finishes.				Supply						
	1/2".											
006	Desk, teacher's, wood laminate,	Hon #H105892. NO SUBSTUTUTE. Please respond to the following in	4600250-1724325	1 Each	40	School Outfitters						
	double full pedestal, 60" x 30" x 29	the VENDOR RESPONSE ITEM NOTES field: List available finishes.										
	1/2".											
006	Desk, teacher's, wood laminate,	Hon #H105892. NO SUBSTUTUTE. Please respond to the following in	4600250-1724325	1 Each	40	School Specialty	No Bid					
000	double full pedestal, 60" x 30" x 29		4000230-1724323	1 Eacii	40	School specialty	NO BIG					
	1/2".											
		WARRING TO SUPERIUM BY A SUPER	4500050 4704005	45.1	40	T 6 .						
006	Desk, teacher's, wood laminate, double full pedestal, 60" x 30" x 29	Hon #H105892. NO SUBSTUTUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available finishes.	4600250-1724325	1 Each	40	Tom Sexton						
	1/2".	the VENDOR RESPONSE TERM NOTES field. Est available missies.										
007		APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE.	4600250-1720043	1 Each	40	Kerr Office Group	HON HP3262	\$939.9500	\$37,598.0000	Laminates: BourbonCherry, Cognac, FieldElm, FlorenceWalnut, Harvest,	Awarded	
1	style, double pedestal, locking, 2 drawers each side & center drawer,	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.								KingswoodWalnut, Mahogany, Mocha, NaturalMaple, Pinnacle, ShakerCherry, SterlingAsh, Black, Charcoal, DesignerWhite, Loft, HandspunChestnut, HandspunDove,		
1	30" x 60" x 29-1/2"									HandspunPearl, HandspunSlate, SilverMesh, SteelMesh, Gray, White. Paints: Black,		
1										Brownstone, Charcoal, Fossil, Light Gray, Loft, Muslin, Putty, Titanium.		
1		II.	1									
1									I	I		
L												
007		APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE.	. 4600250-1720043	1 Each	40	Kurtz Bros				No Bid		
007	style, double pedestal, locking, 2	Please respond to the following in the VENDOR RESPONSE ITEM	. 4600250-1720043	1 Each	40	Kurtz Bros				No Bid		
007			4600250-1720043	1 Each	40	Kurtz Bros				No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer,	Please respond to the following in the VENDOR RESPONSE ITEM	4600250-1720043	1 Each	40	Kurtz Bros				No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer,	Please respond to the following in the VENDOR RESPONSE ITEM	4600250-1720043	1 Each	40	Kurtz Bros				No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2"	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.			40	Kurtz Bros				No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2"	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE.			40	Munson Business	No Bid			No Bid		
	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM					No Bid			No Bid		
	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2"	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE.				Munson Business	No Bid			No Bid		
	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer,	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM				Munson Business	No Bid			No Bid		
	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer,	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM				Munson Business	No Bid			No Bid		
	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer,	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM				Munson Business	No Bid			No Bid		
	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2"	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1720043	1 Each	40	Munson Business	No Bid			No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM	4600250-1720043	1 Each		Munson Business Interiors	No Bid			No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, double pedestal, locking, 2	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE.	4600250-1720043	1 Each	40	Munson Business Interiors	No Bid			No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM	4600250-1720043	1 Each	40	Munson Business Interiors	No Bid			No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, double pedestal, locking, 2	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM	4600250-1720043	1 Each	40	Munson Business Interiors	No Bid			No Bid		
007	style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2" Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, double pedestal, locking, 2	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors. APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM	4600250-1720043	1 Each	40	Munson Business Interiors	No Bid			No Bid		

007	Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2"	APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1720043	1 Each	40	School Outfitters						
007	Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers each side & center drawer, 30" x 60" x 29-1/2"	APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1720043	1 Each	40	School Specialty	No Bid					
007	Desk, teacher's, retro classic metal style, double pedestal, locking, 2 drawers seach side & center drawer, 30" x 60" x 29-1/2"	APPROVED PRODUCT: Hon Metro Classic #HP3262. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1720043	1 Each	40	Tom Sexton						
008	Desk, teacher's mobile, D-shape top approx. 60"W x 24"-30"H with 3 drawer locking pedestal.	Smith System Cascade, Hon Smartlink, Artco-Bell Discover or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors/finishes.	4600250-2014395	1 Each	80	Tom Sexton	Artcobell - DTDTD3060F	\$689.5400	\$55,163.2000	Factory Standard Colors	Awarded	
008	approx. 60"W x 24"-30"H with 3 drawer locking pedestal.	Smith System Cascade, Hon Smartlink, Arto-Bell Discover or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors/finishes.		1 Each	80	Kerr Office Group	HON HLTV2460T-3	\$769.9500	\$61,596.0000	Laminates: BourbonCherry, Cognac, FieldElm, FlorenceWalnut, Harvest, KingswoodWalnut, Mahogany, Mocha, NaturalMaple, Pinnacle, ShakerCherry, SterlingAsh, Black, Charcoal, DesignerWhite, Loft.		
008	approx. 60"W x 24"-30"H with 3 drawer locking pedestal.	Smith System Cascade, Hon Smartlink, Artco-Bell Discover or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors/finishes.		1 Each	80	Kurtz Bros				No Bid		
008	approx. 60"W x 24"-30"H with 3 drawer locking pedestal.	Smith System Cascade, Hon Smartlink, Arto-Bell Discover or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors/finishes.			80	Munson Business Interiors	No Bid					
008	approx. 60"W x 24"-30"H with 3 drawer locking pedestal.	Smith System Cascade, Hon Smartlink, Artco-Bell Discover or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors/finishes.			80	Nu-Idea School Supply						
008	approx. 60"W x 24"-30"H with 3 drawer locking pedestal.	Smith System Cascade, Hon Smartlink, Artco-Bell Discover or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors/finishes.		1 Each	80	School Outfitters						
008	Desk, teacher's mobile, D-shape top approx. 60"W x 24"-30"H with 3 drawer locking pedestal.	Smith System Cascade, Hon Smartlink, Arto-Bell Discover or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors/finishes.	4600250-2014395	1 Each	80	School Specialty	No Bid					
009	Table, adjustable height legs, 60" diameter, round.	Allied Classic or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1429314		40	School Specialty	1334867	\$265.1300	\$10,605.2000	Laminate: Asian Night, Bannister Oak, Battleship, Black, Blackbird, Blue Curacao, Candy Apple, Chrome Yellow, Classic Linen, Dove Gray, Dragon Fire, Florence Walnut, French Pear, Fresh Cut, Fusion Maple, Grape, Graphite Nebula, Graye Ilm, Gray Nebula, Green, High Rise, Island, Kingswood Walnut, Magnolia, Montana Walnut, Moroccan, Navy, Nepal Teak, New Age Oak, Ocean, Orange, Pewter Mesh, Pinnacle Walnut, Portico Teak, Red, River Cherry, Robin, Royal Blue, Steel Mesh, Sunny, and Wild Cherry.	Awarded	
009	Table, adjustable height legs, 60" diameter, round.	Allied Classic or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1429314	1 Each	40	Nu-Idea School Supply	Allied #CLS60CR	\$499.0000	\$19,960.0000	Florence Walnut, Studio Teak, Sterling Ash, French Pear, Kensington Maple, New Age Oak, Nepal Teak, Handspun Pearl, Handspun Open Jate, Crisp Linen, Classic Linen, Pressed Linen, Flax Linen, Natural Grey Felt, Green Felt, Blue Felt, Orange Felt & Yellow Felt		

009	Table, adjustable height legs, 60" diameter, round.	Allied Classic or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1429314	1 Each	40	Kerr Office Group						
	diameter, round.	VENDOR RESI ORSE MERMINO LES MEIO. EIST AVAILABLE COLOTS.										
009	Table, adjustable height legs, 60"	Allied Classic or equal. Please respond to the following in the	4600250-1429314	1 Fach	40	Kurtz Bros				No Bid		
009	diameter, round.	VENDOR RESPONSE ITEM NOTES field: List available colors.	4000230-1425314	1 Edill	40	Kuitz Bios				NO BIU		
009	Table, adjustable height legs, 60" diameter, round.	Allied Classic or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1429314	1 Each	40	Munson Business Interiors	No Bid					
	diameter, round.	VENDOR RESPONSE ITEM NOTES HEID. LIST AVAILABLE COIDS.				interiors						
009	Table, adjustable height legs, 60"	Allied Classic or equal. Please respond to the following in the	4600250-1429314	1 Each	40	School Outfitters						
	diameter, round.	VENDOR RESPONSE ITEM NOTES field: List available colors.										
<u> </u>												
009	Table, adjustable height legs, 60"	Allied Classic or equal. Please respond to the following in the	4600250-1429314	1 Each	40	Tom Sexton						
1	diameter, round.	VENDOR RESPONSE ITEM NOTES field: List available colors.			1	1			1			
1					1	1			1			
1					1	1			1			
1					1	1			1			
			<u> </u>	<u></u>	<u> </u>	<u> </u>	<u> </u>		<u> </u>			<u> </u>
010	Table, craft, 60"W x 42"D x 30"H.	Allied AT4260FM or equal.	4460825-1717564	1 Each	6	Nu-Idea School	Allied #AT4260FM	\$997.0000	\$5,982.0000	Fusion Maple Top	Awarded	
	High pressure laminate top,					Supply						
010	Table, craft, 60"W x 42"D x 30"H.	Allied AT4260FM or equal.	4460825-1717564	1 Each	6	School Specialty	446702	\$1,114.0600	\$6,684.3600			
	High pressure laminate top,											
010	Table, craft, 60"W x 42"D x 30"H.	Allied AT4260FM or equal.	4460825-1717564	1 Each	6	Kerr Office Group						
	High pressure laminate top,	·										
010	Table, craft, 60"W x 42"D x 30"H.	Allied AT4260FM or equal.	4460825-1717564	1 Each	6	Kurtz Bros				No Bid		
	High pressure laminate top,											
010	Table, craft, 60"W x 42"D x 30"H.	Allied AT4260FM or equal.	4460825-1717564	1 Each	6	Munson Business	No Bid					
0.20	High pressure laminate top,		1.2223 2727304	2 20011	Ů	Interiors						
			4460825-1717564	1 Each	6	School Outfitters						
010	Table craft 60"W v 42"D v 20"H	Allied ATA260EM or equal	4400023-1/1/304	1 Edill	0	School Suthitiers						
010	Table, craft, 60"W x 42"D x 30"H. High pressure laminate top,	Allied AT4260FM or equal.		1								
010		Allied AT4260FM or equal.										
010		Allied AT4260FM or equal.										
010		Allied AT4260FM or equal.										
010		Allied AT4260FM or equal.										
	High pressure laminate top,											
010	High pressure laminate top, Table, craft, 60"W x 42"D x 30"H.	Allied AT4260FM or equal. Allied AT4260FM or equal.	4460825-1717564	1 Each	6	Tom Sexton						
	High pressure laminate top,		4460825-1717564	1 Each	6	Tom Sexton						
	High pressure laminate top, Table, craft, 60"W x 42"D x 30"H.		4460825-1717564	1 Each	6	Tom Sexton						
	High pressure laminate top, Table, craft, 60"W x 42"D x 30"H.		4460825-1717564	1 Each	6	Tom Sexton						
	High pressure laminate top, Table, craft, 60"W x 42"D x 30"H.		4460825-1717564	1 Each	6	Tom Sexton						

011	Table, craft, solid hardwood, 60"W x	Allied AT4260HM or equal.	4600250-2015011	1 Fach	10	School Specialty	446702	\$1,114.0600	\$11,140.6000		1 1	Reject - does not meet
011	42"D x 30H.	runco / i	4000230 2013011	1 20011	10	School Specialty	440702	\$1,114.0000	ÿ11,1-10.0000			specifications.
011	Table, craft, solid hardwood, 60"W x	Allied AT4260HM or equal.	4600250-2015011	1 Each	10	Nu-Idea School	Allied #AT4260HM	\$1,555.0000	\$15,550.0000	Solid Maple Top	Awarded	
	42"D x 30H.					Supply						
011	Table, craft, solid hardwood, 60"W x	Allied AT4260HM or equal.	4600250-2015011	1 Each	10	Kerr Office Group						
	42"D x 30H.											
011	Table, craft, solid hardwood, 60"W x	Allied AT4260HM or equal.	4600250-2015011	1 Each	10	Kurtz Bros				No Bid		
	42"D x 30H.											
								[
011	Table, craft, solid hardwood, 60"W x 42"D x 30H.	Allied AT4260HM or equal.	4600250-2015011	1 Each	10	Munson Business	No Bid					
	42"D x 30H.					Interiors						
011	Table, craft, solid hardwood, 60"W x 42"D x 30H.	Allied AT4260HM or equal.	4600250-2015011	1 Each	10	School Outfitters						
	42 D X 30H.											
011	Table, craft, solid hardwood, 60"W x 42"D x 30H.	Allied AT4260HM or equal.	4600250-2015011	1 Each	10	Tom Sexton						
	42 D X 3011.											
012	Stool, art, solid hardwood, 18".	Allied STL18 or equal.	4600250-2015012	1 Each	48	School Specialty	446711	\$131.2500	\$6,300.0000			Reject - does not meet specifications.
												·
012	Stool, art, solid hardwood, 18".	Allied STL18 or equal.	4600250-2015012	1 Each	48	Nu-Idea School Supply	Allied #STL18	\$179.0000	\$8,592.0000	Parawood & Black	Awarded	
012	Stool, art, solid hardwood, 18".	Allied STL18 or equal.	4600250-2015012	1 5	40	Kerr Office Group						
012	Stool, art, solid hardwood, 18 .	Ailled SI L18 or equal.	4600250-2015012	1 Each	48	Kerr Office Group						
012	Stool, art, solid hardwood, 18".	Allied STL18 or equal.	4600250-2015012	1 Fach	48	Kurtz Bros				No Bid		
312	5.501, dr.y 50.10 Hardwood, 10 .	Anico State of Equal.	1000250-2015012	1 20011		NUI LE DI US				NO DIU		
012	Stool, art, solid hardwood, 18".	Allied STL18 or equal.	4600250-2015012	1 Each	48	Munson Business	No Bid					
	, , , , , , , , , , , , , , , , , , , ,					Interiors						

012	Stool, art, solid hardwood, 18".	Allied STL18 or equal.	4600250-2015012	1 Each	48	School Outfitters						
012	Stool, art, solid hardwood, 18".	Allied STL18 or equal.	4600250-2015012	1 Each	48	Tom Sexton						
013	Table, folding legs, lightweight, blow molded, rectangular, 30" x 72".	National Public Seating #BT-3072. NO SUBSTITUTE.	4600250-2011388	1 Each	400	School Specialty	676050	\$107.4400	\$42,976.0000		Awarded	
013	Table, folding legs, lightweight, blow molded, rectangular, 30" x 72".	National Public Seating #BT-3072. NO SUBSTITUTE:	4600250-2011388	1 Each	400	Munson Business Interiors	National Public Seating BT-3072	\$126.5900	\$50,636.0000	BT Series - National Public Seating Speckled Gray or Charcoal Slate		
013	Table, folding legs, lightweight, blow molded, rectangular, 30" x 72".		4600250-2011388	1 Each	400	Tom Sexton	National Public Seating	\$131.0000	\$52,400.0000			
013	Table, folding legs, lightweight, blow molded, rectangular, 30" x 72".	National Public Seating #BT-3072. NO SUBSTITUTE.	4600250-2011388	1 Each	400	Kurtz Bros	National Public Seating BT-3072	\$134.9300	\$53,972.0000			
013	Table, folding legs, lightweight, blow molded, rectangular, 30" x 72".	National Public Seating #BT-3072. NO SUBSTITUTE.	4600250-2011388	1 Each	400	Kerr Office Group						
013	Table, folding legs, lightweight, blow molded, rectangular, 30" x 72".	National Public Seating #BT-3072. NO SUBSTITUTE:	4600250-2011388	1 Each	400	Nu-Idea School Supply						
013	Table, folding legs, lightweight, blow molded, rectangular, 30" x 72".	National Public Seating #BT-3072. NO SUBSTITUTE.	4600250-2011388	1 Each	400	School Outfitters						
014	Table, science, 60°L x 30″H x 24"W.	National Public Seating #SLT1-2460CB or equal.	4460825-1703214	1 Each	30	School Specialty	1017252	\$471.3800	\$14,141.4000		Awarded	
014	Table, science, 60°L x 30″H x 24°W.	National Public Seating #SLT1-2460CB or equal.	4460825-1703214		30	Interiors	National Public Seating SLTI-2460CB	\$570.0000	\$17,100.0000	Wood Series - National Public Seating Chem-Res Top with Back Compartments		
014	Table, science, 60"L x 30"H x 24"W.	National Public Seating #SLT1-2460CB or equal.	4460825-1703214	1 Each	30	Kerr Office Group						

014	Table, science, 60"L x 30"H x 24"W.	National Public Seating #SLT1-2460CB or equal.	4460825-1703214	1 Each	30	Kurtz Bros				No Bid		
014	Table, science, 60"L x 30"H x 24"W.	National Public Seating #SLT1-2460CB or equal.	4460825-1703214	1 Each	30	Nu-Idea School Supply						
						Зирріу						
014	Table, science, 60"L x 30"H x 24"W.	National Public Seating #SLT1-2460CB or equal.	4460825-1703214	1 Each	30	School Outfitters						
014	Table, science, 60"L x 30"H x 24"W.	National Public Seating #SLT1-2460CB or equal.	4460825-1703214	1 Each	30	Tom Sexton						
Lot Item Nos.												
15-20	Bookcase, wood, 36"W x 30"H x	Description Community Congress Line. NO SUBSTITUTE. Please respond to the	Commodity Code	UOM 1 Fach	Quantity	Vendor Vers Office Group	Manufacturer / Provider		Total Price	Vendor Response Item Notes Woodtone Finisher: Prounic Conven Citron Decert Foru Honny Nut Proun	Award Status	Award Notes
015	12"D, with (1) fixed shelf &	following in the VENDOR RESPONSE ITEM NOTES field: List available	4600250-1702558	1 Each	10	Kerr Office Group	JSI/Community CO3630BC	\$824.9500	\$8,249.5000	Woodtone Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown.	Awarded	
	woodtone finishes.	finishes for Item Nos. 13 thru 18.					COSOSOSC					
016	Bookcase, wood, 36"W x 36"H x	Community Congress Line. NO SUBSTITUTE.	4600250-1724326	1 Each	10	Kerr Office Group		\$854.9500	\$8,549.5000	Woodtone Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown.	Awarded	
	12"D, with (1) fixed shelf & woodtone						CO3636BC					
	finishes.											
017	Bookcase, wood, 36"W x 48"H x	Community Congress Line. NO SUBSTITUTE.	4600250-1693629	1 Each	20	Kerr Office Group		\$919.9500	\$18,399.0000	Woodtone Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown.	Awarded	
	12"D, with (1) fixed shelf, (1)						CO3648BC					
	adjustable shelf & woodtone finishes.											
	iinisnes.											
018	Bookcase, wood, 36"W x 60"H x	Community Congress Line. NO SUBSTITUTE.	4600250-1690106	1 Fach	10	Kerr Office Group	JSI/Community	\$1,099.9500	\$10,999.5000	Woodtone Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown.	Awarded	
010	12"D, with (1) fixed shelf, (2)	Community Congress Line. NO SOBSTITUTE.	4000230-1030100	I Lacii	10	Kerr Office Group	CO3660BC	\$1,033.3300	\$10,555.5000	woodtone rimsnes. Brownie, Canyon, Citron, Desert, Ecra, Herma, Honey, Nat Brown.	Awarueu	
	adjustable shelves & woodtone											
	finishes.											
1						1						
L			1			1		1	1			
019	Bookcase, wood, 36"W x 72"H x 12"D, with (1) fixed shelf, (3)	Community Congress Line. NO SUBSTITUTE.	4600250-1702560	1 Each	20	Kerr Office Group	JSI/Community CO3672BC	\$1,234.9500	\$24,699.0000	Woodtone Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown.	Awarded	
	12"D, with (1) fixed shelf, (3) adjustable shelves & woodtone					1	CU36/2BC					
	finishes.					1						
1						1						
						1						
1						1						
020	Bookcase, wood, 36"W x 84"H x	Community Congress Line. NO SUBSTITUTE.	4600250-1702561	1 Each	10	Kerr Office Group		\$1,294.9500	\$12,949.5000	Woodtone Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown.	Awarded	
1	12"D, with (1) fixed shelf, (4)						CO3684BC					
1	adjustable shelves & woodtone finishes.											
1												
1												
1						1						
015	Bookcase, wood, 36"W x 30"H x	Community Congress Line. NO SUBSTITUTE. Please respond to the	4600250-1702558	1 Each	10	Munson Business	JSI Community	\$833.2500	\$8,332.5000	Community Congress Bookcases are only available for order until June 30, 2026. At this		
	12"D, with (1) fixed shelf &	following in the VENDOR RESPONSE ITEM NOTES field: List available				Interiors	Congress CO3630BC			time, they will be discontinued. Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna,		
	woodtone finishes.	finishes for Item Nos. 13 thru 18.								Honey, Nut Brown		
016	Bookcase, wood, 36"W x 36"H x	Community Congress Line. NO SUBSTITUTE.	4600250-1724326	1 Fach	10	Munson Business	JSI Community	\$864.2100	\$8,642.1000	Community Congress Bookcases are only available for order until June 30, 2026. At this		
310	12"D, with (1) fixed shelf &	Community Congress Line. NO SUBSTITUTE.	7000230*1724320	1 Edill	10	Interiors	Congress CO3636BC	3004.2100	\$6,042.1000	time, they will be discontinued. Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna,		
	woodtone									Honey, Nut Brown		
	finishes.											

017	Bookcase, wood, 36"W x 48"H x 12"D, with (1) fixed shelf, (1) adjustable shelf & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1693629	1 Each	20	Munson Business Interiors	JSI Community Congress CO3648BC	\$928.3100	\$18,566.2000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown
018	Bookcase, wood, 36"W x 60"H x 12"D, with (1) fixed shelf, (2) adjustable shelves & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1690106		10	Munson Business Interiors	JSI Community Congress CO3660BC	\$1,111.0000	\$11,110.0000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown
019	Bookcase, wood, 36"W x 72"H x 12"D, with (1) fixed shelf, (3) adjustable shelves & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1702560	1 Each	20	Munson Business Interiors	JSI Community Congress CO3672BC	\$1,248.7900	\$24,975.8000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown
020	Bookcase, wood, 36"W x 84"H x 12"D, with (1) fixed shelf, (4) adjustable shelves & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1702561	1 Each	10	Munson Business Interiors	JSI Community Congress CO3684BC	\$1,305.9100	\$13,059.1000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Brownie, Canyon, Citron, Desert, Ecru, Henna, Honey, Nut Brown
015	Bookcase, wood, 36"W x 30"H x 12"D, with (1) fixed shelf & woodtone finishes.	Community Congress Line. NO SUBSTITUTE. Please respond to the following in the YENDOR RESPONSE ITEM NOTES field: List available finishes for Item Nos. 13 thru 18.	4600250-1702558	1 Each	10	Drennan Equipment Co.	Community CO3630BC	\$955.5000	\$9,555.0000	Egret, Rye, Fawn, Buff, Sable, Barrel, Umber, Loft, Mineral, Flint, Saddle, Cinder, Cask, Raven *****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***
016	Bookcase, wood, 36"W x 36"H x 12"D, with (1) fixed shelf & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1724326	1 Each	10	Drennan Equipment Co.	Community CO3636BC	\$991.0000	\$9,910.0000	Egret, Rye, Fawn, Buff, Sable, Barrel, Umber, Loft, Mineral, Flint, Saddle, Cinder, Cask, Raven ****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***
017	Bookcase, wood, 36"W x 48"H x 12"D, with (1) fixed shelf, (1) adjustable shelf & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1693629	1 Each	20	Drennan Equipment Co.	Community CO3648BC	\$1,064.5000	\$21,290.0000	Egret, Rye, Fawn, Buff, Sable, Barrel, Umber, Loft, Mineral, Flint, Saddle, Cinder, Cask, Raven ****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***
018	Bookcase, wood, 36"W x 60"H x 12"D, with (1) fixed shelf, (2) adjustable shelves & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1690106	1 Each	10	Drennan Equipment Co.	Community CO3660BC	\$1,274.0000	\$12,740.0000	Egret, Rye, Fawn, Buff, Sable, Barrel, Umber, Loft, Mineral, Flint, Saddle, Cinder, Cask, Raven ****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***
019	Bookcase, wood, 36"W x 72"H x 12"D, with (1) fixed shelf, (3) adjustable shelves & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1702560	1 Each	20	Drennan Equipment Co.	Community CO3672BC	\$1,432.0000	\$28,640.0000	Egret, Rye, Fawn, Buff, Sable, Barrel, Umber, Loft, Mineral, Flint, Saddle, Cinder,Cask, Raven
020	Bookcase, wood, 36"W x 84"H x 12"D, with (1) fixed shelf, (4) adjustable shelves & woodtone finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-1702561	1 Each	10	Drennan Equipment Co.	Community CO 3684BC	\$1,497.5000	\$14,975.0000	Egret, Rye, Fawn, Buff, Sable, Barrel, Umber, Loft, Mineral, Flint, Saddle, Cinder, Cask, Raven ****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***
Lot Item Nos. 21-26	Item/Service	Description	Commodity Code	иом	Quantity	Vendor	Manufacturer / Provider	Unit Bid Price	Total Price	Vendor Response Item Notes Award Status Award Notes
021	Bookcase, wood, 36"W x 30"H x 12"D, with (1) fixed shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE. Please respond to the	4600250-2014387		20	Kerr Office Group	JSI/Community CO3630BC	\$849.9500	\$16,999.0000	Backdrop, BlackFox, BrightWhite, CargoPants, Chatroom, Dalsy, Daring, Dynamo, Enigma, FrenchRoast, GeorgianBay, GreekVilla, GulfStream, HeartThrob, NetworkGray, NonchalantWhite, Paradise, QuixoticPlum, RelicBronze, Sandbank, Storm, TricornBlack.
022	Bookcase, wood, 36"W x 36"H x 12"D, with (1) fixed shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014388	1 Each	15	Kerr Office Group	JSI/Community CO3636BC	\$879.9500	\$13,199.2500	Backdrop, BlackFox, BrightWhite, CargoPants, Chatroom, Dalsy, Daring, Dynamo, Enigma, FrenchRoast, GeorgianBay, GreekVilla, GulfStream, HeartThrob, NetworkGray, NonchalantWhite, Paradise, QuixoticPlum, RelicBronze, Sandbank, Storm, TricornBlack.

023	Bookcase, wood, 36"W x 48"H x 12"D, with (1) fixed shelf, (1) adjustable shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014389	1 Each	15	Kerr Office Group	JSI/Community CO3648BC	\$944.9500	\$14,174.2500	Backdrop, BlackFox, BrightWhite, CargoPants, Chatroom, Daisy, Daring, Dynamo, Enigma, FrenchRoast, GeorgianBay, GreekVilla, GulfStream, HeartThrob, NetworkGray, NonchalantWhite, Paradise, QuixoticPlum, RelicBronze, Sandbank, Storm, TricornBlack.	Awarded	
024	Bookcase, wood, 36"W x 60"H x 12"D, with (1) fixed shelf, (2) adjustable shelves & paint finishes.	Community Congress Line. NO SUBSTITUTE. SAMPLE REQUIRED.	4600250-2014390	1 Each	10	Kerr Office Group	JSI/Community CO3660BC	\$1,124.9500	\$11,249.5000	Backdrop, BlackFox, BrightWhite, CargoPants, Chatroom, Daisy, Daring, Dynamo, Enigma, FrenchRoast, GeorgianBay, GreekVilla, GulfStream, HeartThrob, NetworkGray, NonchalantWhite, Paradise, QuixoticPlum, RelicBronze, Sandbank, Storm, TricornBlack.	Awarded	
025	Bookcase, wood, 36"W x 72"H x 12"D, with (1) fixed shelf, (3) adjustable shelves & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014391	1 Each	10	Kerr Office Group	JSI/Community CO3672BC	\$1,259.9500	\$12,599.5000	Backdrop, BlackFox, BrightWhite, CargoPants, Chatroom, Daisy, Daring, Dynamo, Enigma, FrenchRoast, GeorgianBay, GreekVilla, GulfStream, HeartThrob, NetworkGray, NonchalantWhite, Paradise, QuixoticPlum, RelicBronze, Sandbank, Storm, TricornBlack.	Awarded	
026	Bookcase, wood, 36"W x 84"H x 12"D, with (1) fixed shelf, (4) adjustable shelves & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014392	1 Each	5	Kerr Office Group	JSI/Community CO3684BC	\$1,319.9500	\$6,599.7500	Backdrop, BlackFox, BrightWhite, CargoPants, Chatroom, Daisy, Daring, Dynamo, Enigma, FrenchRoast, GeorgianBay, GreekVilla, GulfStream, HeartThrob, NetworkGray, NonchalantWhite, Paradise, QuixoticPlum, RelicBronze, Sandbank, Storm, TricornBlack.	Awarded	
021	Bookcase, wood, 36"W x 30"H x 12"D, with (1) fixed shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available finishes for Item Nos. 19 thru 24.	4600250-2014387	1 Each	20	Munson Business Interiors	JSI Community Congress CO3630BC	\$858.5400	\$17,170.8000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Backdrop, Black Fox, Bright White, Cargo Pants, Chatroom, French Roast, Greek Villa, Network Grey, Nonchalant White, Storm, Tricorn Black, Daisy, Daring, Dynamo, Enigma, Georgian Bay, Gulfstream, Heartthrob, Paradise, Quixotic Plum, Relic Bronze, Sandbank		
022	Bookcase, wood, 36"W x 36"H x 12"D, with (1) fixed shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014388	1 Each	15	Munson Business Interiors	JSI Community Congress CO3636BC	\$889.0600	\$13,335.9000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Backdrop, Black Fox, Bright White, Cargo Pants, Chatroom. French Roast, Greek Villa, Network Grey, Nonchalant White, Storm, T		
023	Bookcase, wood, 36"W x 48"H x 12"D, with (1) fixed shelf, (1) adjustable shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014389	1 Each	15	Munson Business Interiors	JSI Community Congress CO3648BC	\$952.7300	\$14,290.9500	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Backdrop, Black Fox, Bright White, Cargo Pants, Chatroom. French Roast, Greek Villa, Network Grey, Nonchalant White, Storm, T		
024	Bookcase, wood, 36°W x 60°H x 12°D, with (1) fixed shelf, (2) adjustable shelves & paint finishes.	Community Congress Line. NO SUBSTITUTE. SAMPLE REQUIRED.	4600250-2014390	1 Each	10	Munson Business Interiors	JSI Community Congress CO3660BC	\$1,135.4200	\$11,354.2000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Backdrop, Black Fox, Bright White, Cargo Pants, Chatroom. French Roast, Greek Villa, Network Grey, Nonchalant White, Storm, T		
025	Bookcase, wood, 36"W x 72"H x 12"D, with (1) fixed shelf, (3) adjustable shelves & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014391	1 Each	10	Munson Business Interiors	JSI Community Congress CO3672BC	\$1,273.2100	\$12,732.1000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Backdrop, Black Fox, Bright White, Cargo Pants, Chatroom. French Roast, Greek Villa, Network Grey, Nonchalant White, Storm, T		
026	Bookcase, wood, 36"W x 84"H x 12"D, with (1) fixed shelf, (4) adjustable shelves & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014392	1 Each	5	Munson Business Interiors	JSI Community Congress CO3684BC	\$1,331.2000	\$6,656.0000	Community Congress Bookcases are only available for order until June 30, 2026. At this time, they will be discontinued. Finishes: Backdrop, Black Fox, Bright White, Cargo Pants, Chatroom. French Roast, Greek Villa, Network Grey, Nonchalant White, Storm, T		
021	Bookcase, wood, 36"W x 30"H x 12"D, with (1) fixed shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available finishes for Item Nos. 19 thru 24.	4600250-2014387	1 Each	20	Drennan Equipment Co.	Community CO3630BC	\$984.5000	\$19,690.0000	Bright White, Greek Villa, Nonchalant White, Sliverplate, Skyline Steel, Universal Khaki, Chatroom, Backdrop, Storm, Black Fox, Gale Force, Tricorn Black ****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***		
022	Bookcase, wood, 36"W x 36"H x 12"D, with (1) fixed shelf & paint finishes.	Community Congress Line. NO SUBSTITUTE.	4600250-2014388	1 Each	15	Drennan Equipment Co.	Community CO3636BC	\$1,019.5000	\$15,292.5000	Bright White, Greek Villa, Nonchalant White, Sliverplate, Skyline Steel, Universal Khaki, Chatroom, Backdrop, Storm, Black Fox, Gale Force, Tricorn Black ****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***		

023	Designed 26/04 - 40/04 -	Community Communities AIO CLINCTITUTE	4000350 3014300	1 F	45	D	Community	£1.003.5000	\$16,387.5000	Bright White, Greek Villa, Nonchalant White, Sliverplate, Skyline Steel, Universal Khaki,		
023	Bookcase, wood, 36"W x 48"H x 12"D, with (1) fixed shelf, (1)	Community Congress Line. NO SUBSTITUTE.	4600250-2014389	1 Each	15	Drennan Equipment Co.	Community CO3648BC	\$1,092.5000	310,387.3000	Chatroom, Backdrop, Storm, Black Fox, Gale Force, Tricorn Black		
	adjustable shelf & paint finishes.									****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***		
024	Bookcase, wood, 36"W x 60"H x	Community Congress Line. NO SUBSTITUTE. SAMPLE REQUIRED.	4600250-2014390	1 Each	10	Drennan Equipment	Community	\$1,302.0000	\$13,020.0000	Bright White, Greek Villa, Nonchalant White, Sliverplate, Skyline Steel, Universal Khaki,		
	12"D, with (1) fixed shelf, (2) adjustable shelves & paint finishes.					Co.	CO3660BC			Chatroom, Backdrop, Storm, Black Fox, Gale Force, Tricorn Black ****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***		
	adjustable shelves & paint linishes.									ONLY AVAILABLE ON THE JULY 1, 2026 PER MIRG		
025	Bookcase, wood, 36"W x 72"H x 12"D, with (1) fixed shelf, (3)	Community Congress Line. NO SUBSTITUTE.	4600250-2014391	1 Each	10	Drennan Equipment Co.	Community CO3672BC	\$1,460.0000	\$14,600.0000	Bright White, Greek Villa, Nonchalant White, Sliverplate, Skyline Steel, Universal Khaki, Chatroom, Backdrop, Storm, Black Fox, Gale Force, Tricorn Black		
	adjustable shelves & paint finishes.					Co.	CO3072BC			****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***		
026	Bookcase, wood, 36"W x 84"H x	Community Congress Line. NO SUBSTITUTE.	4600250-2014392	1 Each	5	Drennan Equipment	Community	\$1,526.5000	\$7,632.5000	Bright White, Greek Villa, Nonchalant White, Sliverplate, Skyline Steel, Universal Khaki,	+	
	12"D, with (1) fixed shelf, (4)	,,,				Co.	CO3684BC	+-,	***	Chatroom, Backdrop, Storm, Black Fox, Gale Force, Tricorn Black		
	adjustable shelves & paint finishes.									****ONLY AVAILABLE UNTIL JULY 1, 2026 PER MFG***		
Lot Item Nos. 27-30	Itom/Service	Description	Commodity Cod	UOM	Quantity	Vonder	Manufactures / Brown	Unit Bid Price	Total Price	Vander Paracuse Heart Notes	Award Status	Award Notes
	Cabinet, file with cam type key lock,	Description Hon H312P. NO SUBSTITUTE. Please respond to the following in the	4600250-1717533		30	Vendor Kerr Office Group	Manufacturer / Provider HON H312P	\$344.9500	\$10,348.5000	Vendor Response Item Notes Black (P), Brownstone (P7D), Charcoal (S), Designer White (PJW), Fossil (P28), Light Gray		Award Notes
027	2 drawer letter size.	VENDOR RESPONSE ITEM NOTES field: List available colors for Item	4000230 1717333	1 20011	30	nerr onice Group	11011113221	\$344.3300	\$10,540.5000	(Q), Loft (LOFT), Muslin (T3), Putty (L), Titanium (P8T)	Awaraca	
		Nos. 25 thru 28.										
028	Cabinet, file with cam type key lock,	Hon H312CP. NO SUBSTITUTE.	4600250-1717534	1 Each	5	Kerr Office Group	HON H312CP	\$439.9500	\$2,199.7500	Black (P), Brownstone (P7D), Charcoal (S), Designer White (PJW), Fossil (P28), Light Gray	Awarded	
	2 drawer legal size.									(Q), Loft (LOFT), Muslin (T3), Putty (L), Titanium (P8T)		
029	Cabinet, file with cam type key lock, 4 drawer letter size.	Hon H314P. NO SUBSTITUTE.	4600250-1717535	1 Each	40	Kerr Office Group	HON H314P	\$469.9500	\$18,798.0000	Black (P), Brownstone (P7D), Charcoal (S), Designer White (PJW), Fossil (P28), Light Gray (Q), Loft (LOFT), Muslin (T3), Putty (L), Titanium (P8T)	Awarded	
										(4)		
030	Cabinet, file with cam type key lock,	Hon H314CP. NO SUBSTITUTE.	4600250-1717536	1 Each	2	Kerr Office Group	HON H314CP	\$574.9500	\$1,149.9000	Black (P), Brownstone (P7D), Charcoal (S), Designer White (PJW), Fossil (P28), Light Gray	Awarded	
	4 drawer legal size.							,	, ,	(Q), Loft (LOFT), Muslin (T3), Putty (L), Titanium (P8T)		
Lot Item Nos. 31-32	Item/Service	Description	Commodity Code	UOM	Quantity	Vendor	Manufacturer / Provider	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
031	Cabinet, lateral file, letter size, 3	Hon Brigade #H683L. NO SUBSTITUTE. Please respond to the	4600250-1717537		Quantity 10	Kerr Office Group	HON H683L	\$709.9500	\$7,099.5000	Black (P), Brownstone (P7D), Charcoal (S), Designer White (PJW), Fossil (P28), Light Gray		Awaru Notes
	compartment, 40 7/8" x 36" x 19	following in the VENDOR RESPONSE ITEM NOTES field: List available						,	. ,	(Q), Loft (LOFT), Muslin (T3), Putty (L), Titanium (P8T)		
	1/4".	colors for Item Nos. 29 thru 30.										
032	Cabinet, lateral file, letter size, 5	Hon Brigade #H685L. NO SUBSTITUTE.	4600250-1717539	1 Each	5	Kerr Office Group	HON H685L	\$1,139.9500	\$5,699.7500	Black (P), Brownstone (P7D), Charcoal (S), Designer White (PJW), Fossil (P28), Light Gray	Awarded	
	compartment, 67" x 36" x 19 1/4".									(Q), Loft (LOFT), Muslin (T3), Putty (L), Titanium (P8T)		
Lot Item Nos. 33-36	Item/Service	Description	Commodity Code	иом	Quantity	Vendor	Manufacturer / Provider	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes

			,									
033	Chair, all purpose, contemporary style, with legs, 12".	Artco-Bell #ABC-D10D or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for litem Nos. 31 thru 34.	4600250-2013459	1 Each	100	Tom Sexton	Artcobell - D10D	\$43.9500	\$4,395.0000	Factory Standard Colors	Awarded	
034	Chair, all purpose, contemporary style, with legs, 14".	Artco-Bell #ABC-D10C or equal.	4600250-2013460	1 Each	600	Tom Sexton	Artcobell - D10C	\$43.9500	\$26,370.0000	Factory Standard Colors	Awarded	
035	Chair, all purpose, contemporary style, with legs, 16".	Artco-Bell #ABC-D108 or equal.	4600250-2013461	1 Each	600	Tom Sexton	Artcobell - D10B	\$54.1500	\$32,490.0000	Factory Standard Colors	Awarded	
036	Chair, all purpose, contemporary style, with legs, 18".	Artco-Bell #ABC-D10A or equal.	4600250-2013462	1 Each	2400	Tom Sexton	Artcobell - D10A	\$54.1500	\$129,960.0000	Factory Standard Colors	Awarded	
033	Chair, all purpose, contemporary style, with legs, 12".	Artco-Bell #ABC-D1DD or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 31 thru 34.	4600250-2013459	1 Each	100	School Specialty	1357326	\$45.8600	\$4,586.0000	Shell Color: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Marine, Shamrock, Slate, and Sunflower Frame: Chrome Glide: Felt, Nylon, Steel, and Rubber		
034	Chair, all purpose, contemporary style, with legs, 14".	Artco-Bell #ABC-D10C or equal.	4600250-2013460	1 Each	600	School Specialty	1357325	\$46.4600	\$27,876.0000	Shell Color: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Marine, Shamrock, Slate, and Sunflower Frame: Chrome Glide: Felt, Nylon, Steel, and Rubber		
035	Chair, all purpose, contemporary style, with legs, 16°.	Artco-Bell #ABC-D108 or equal.	4600250-2013461	1 Each	600	School Specialty	1357324	\$52.3900	\$31,434.0000	Shell Color: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Marine, Shamrock, Slate, and Sunflower Frame: Chrome Glide: Felt, Nylon, Steel, and Rubber		
036	Chair, all purpose, contemporary style, with legs, 18".	Artco-Bell #ABC-D10A or equal.	4600250-2013462	1 Each	2400	School Specialty	1357323	\$59.7900	\$143,496.0000	Shell Color: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Marine, Shamrock, Slate, and Sunflower Frame: Chrome Glide: Felt, Nylon, Steel, and Rubber		
Lot Item Nos.												
037	Item/Service Chair, folding, metal tubular steel.	Description National Public Seating 300 Series. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	Commodity Code 4600250-1713451	1 Each	Quantity 1000	Vendor Kurtz Bros	Manufacturer / Provider National Public Seating 300 Series	Unit Bid Price \$28.7600	Total Price \$28,760.0000	Vendor Response Item Notes Currently available colors: Beige, black, blue, brown, grey. Priced per chair but must be ordered in multiples of 4 chairs.	Award Status	Award Notes Reject - incomplete coverage for Lot Item Nos. 37-39.
038	Rack, chair, 50-chair capacity.	National Public Seating DY-50. NO SUBSTITUTE.	4460570-1703168	1 Each	10	Kurtz Bros				No Bid		Reject - incomplete coverage for Lot Item Nos. 37-39.
039	Rack, chair, 84-chair capacity.	National Public Seating 84. NO SUBSTITUTE.	4460570-1724360		10	Kurtz Bros				No Bid		Reject - incomplete coverage for Lot Item Nos. 37-39.
037	Chair, folding, metal tubular steel.	National Public Seating 300 Series. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1713451	1 Each	1000	School Specialty	2051308	\$118.1300	\$118,130.0000	Color: Black Ordered in packs of 4	Awarded	

000		N. C. LO LE G. C. DV SO NO SUBSTITUTS	1150570 1700150	45.1	40	01 10 11	577000	A 404 0500	\$4.040.5000			
038	Rack, chair, 50-chair capacity.	National Public Seating DY-50. NO SUBSTITUTE.	4460570-1703168	1 Each	10	School Specialty	677299	\$401.0600	\$4,010.6000		Awarded	
039	Rack, chair, 84-chair capacity.	National Public Seating 84. NO SUBSTITUTE.	4460570-1724360	1 Each	10	School Specialty	661637	\$489.3800	\$4,893.8000		Awarded	
037	Chair, folding, metal tubular steel.	National Public Seating 300 Series. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1713451	1 Each	1000	Munson Business Interiors	National Public Seating 310	\$34.7900	\$34,790.0000	Comes in a pack of 4 - \$34.79 each / \$339.16 per pack. Must order full pack. Black, Beige, Blue, Brown, Gray https://www.nationalpublicseating.com/products/300%20Series?Color=Black		
038	Rack, chair, 50-chair capacity.	National Public Seating DY-50. NO SUBSTITUTE.	4460570-1703168	1 Each	10	Munson Business Interiors	National Public Seating DY-50	\$476.2700	\$4,762.7000	DY-50 - National Public Seating		
039	Rack, chair, 84-chair capacity.	National Public Seating 84. NO SUBSTITUTE.	4460570-1724360	1 Each	10	Munson Business Interiors	National Public Seating 84	\$580.0000	\$5,800.0000	84 Series - National Public Seating		
037	Chair, folding, metal tubular steel.	National Public Seating 300 Series. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors.	4600250-1713451	1 Each	1000	Consolidated Paper Group	National Publid Seating 300 Series	\$35.0000	\$35,000.0000	Colors: Beige, gray, brown, blue, black; must order in multiples of 4		
038	Rack, chair, 50-chair capacity.	National Public Seating DY-50. NO SUBSTITUTE.	4460570-1703168	1 Each	10	Consolidated Paper Group	National Public Seating DY-50	\$639.0000	\$6,390.0000			
039	Rack, chair, 84-chair capacity.	National Public Seating 84. NO SUBSTITUTE.	4460570-1724360	1 Each	10	Consolidated Paper Group	National Public Seatind #84	\$599.0000	\$5,990.0000			
Lot Item Nos. 40-41	Item/Service	Description	Commodity Code	иом	Quantity		Manufacturer / Provider	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
040	Stool, teachers', adjustable height 25" through 33" with pad.	Artco-Bell #D99A-1 or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES FIELD: List available colors for Item Nos. 38 thru 39.	4600250-1717562	1 Each	6	School Specialty		\$176.6000	\$1,059.6000	Item #1441250 - cannot add Item to corresponding cell. Seat and Back Color: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Marine, Shamrock, Slate, and Sunflower Fabric Color: Black or Black Marble		Reject - does not meet specifications.
041	Stool, teachers', adjustable height 25" through 33", without pad.	Artco-Bell #D99A or equal.	4600250-1717563	1 Each	20	School Specialty	1338752	\$138.4800	\$2,769.6000	Seat and Back Color: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Marine, Shamrock, Slate, and Sunflower		Reject - does not meet specifications.
040	Stool, teachers', adjustable height 25" through 33" with pad.	Artco-Bell #D99A-1 or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES FIELD: List available colors for Item Nos. 38 thru 39.	4600250-1717562	1 Each	6	Tom Sexton	Artcobell - D99A-1	\$185.0000	\$1,110.0000	Factory Standard Colors	Awarded	
041	Stool, teachers', adjustable height 25" through 33", without pad.	Artco-Bell #D99A or equal.	4600250-1717563	1 Each	20	Tom Sexton	Artcobell-D99A	\$156.7500	\$3,135.0000	Factory Standard Colors	Awarded	

Lot Item Nos. 42-44 042	Item/Service Table, adjustable height legs, kidney, 48" x 72".	Description Allied Classic, Artco-Bell Activity #ABC-1275F or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 40 thru 42.	Commodity Code 4600250-1713916	UOM 1 Each	Quantity 100	Vendor School Specialty	Manufacturer / Provider 1334865	Unit Bid Price \$268.5000	Total Price \$26,850.0000	Vendor Response Item Notes Laminate: Asian Night, Bannister Oak, Battleship, Black, Blackbird, Blue Curacao, Candy Apple, Chrome Yellow, Classic Linen, Dove Gray, Dragon Fire, Florence Walnut, French Pear, Fresh Cut, Fusion Maple, Grape, Graphite Nebula, Gray Elm, Gray Nebula, Green, High Rise, Island, Kingswood Walnut, Magnolia, Montana Walnut, Moroccan, Navy, Nepal Teak, New Age Oak, Ocan, Orange, Pewter Mesh, Pinnace Walnut, Portico Teak, Red, River Cherry, Robin, Royal Blue, Steel Mesh, Sunny, and Wild Cherry T-Mold Edge: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Java, Lilac, Lime, Marine, Nickel, Pacific, Paprika, Periwinkle, Pistachio, Saffron, Shamrock, Sky, Slate, Sunflower, Tangerien, Titanium, and Violet	Award Status Awarded	Award Notes
043	Table, adjustable height legs, 48" diameter, round.	Allied Classic, Artco-Bell Activity #ABC-1280F or equal.	4600250-1429298	1 Each	20	School Specialty	1334862	\$203.1400	\$4,062.8000	Laminate: Asian Night, Bantister Oak, Battleship, Black, Blackbird, Blue Curacao, Candy Apple, Chrome Yellow, Classic Linen, Dove Gray, Dragon Fire, Florence Walnut, French Pear, Fresh Cut, Fusion Maple, Grape, Graphite Nebula, Gray Elm, Gray Nebula, Green, High Rise, Island, Kingswood Walnut, Magnolia, Montana Walnut, Moroccan, Navy, Nepal Teak, New Age Oak, Ocean, Orange, Pewter Mesh, Pinnacle Walnut, Portico Teak, Red, River Cherry, Robin, Royal Blue, Steel Mesh, Sunny, and Wild Cherry T-Mold Edge: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Java, Lilac, Lime, Marine, Nickel, Pacific, Paprika, Perlwinkle, Pistachio, Saffron, Shamrock, Sky, Slate, Sunflower, Tangerine, Titanium, and Violet	Awarded	
044	Table, adjustable height legs, trapezold, 30" x 30" x 60".	Allied Classic, Artco-Bell Activity #ABC-1290F or equal.	4600250-1703187	1 Each	100	School Specialty	1334851	\$178.7300	\$17,873.0000	Laminate: Asian Night, Bannister Oak, Battleship, Black, Blackbird, Blue Curacao, Candy Apple, Chrome Yellow, Classic Linen, Dove Gray, Dragon Fire, Florence Walnut, French Pear, Fresh Cut, Fusion Maple, Grape, Graphite Nebula, Gray Elm, Gray Nebula, Green, High Rise, Island, Kingswood Walnut, Magnola, Montana Walnut, Moroccan, Nay, Nepal Teak, New Age Oak, Ocean, Orange, Pewter Mesh, Pinnacle Walnut, Portico Teak, Red, River Cherry, Robin, Royal Blue, Steel Mesh, Sunny, and Wild Cherry T-Mold Edge: Almond, Cardinal, Claret, Ebony, Forest, Imperial, Java, Lilac, Lime, Marine, Nickel, Pacific, Paprival Reprival Rep. Pistachio, Saffron, Shamrock, Sky, Slate, Sunflower, Tangerine, Titanium, and Violet	Awarded	
042	Table, adjustable height legs, kidney, 48" x 72".	Allied Classic, Artco-Bell Activity #ABC-1275F or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 40 thru 42.	4600250-1713916	1 Each	100	Tom Sexton	Artcobell - 1275F	\$386.7500	\$38,675.0000	Factory Standard Colors		
043	Table, adjustable height legs, 48" diameter, round.	Allied Classic, Artco-Bell Activity #ABC-1280F or equal.	4600250-1429298	1 Each	20	Tom Sexton	Artcobell - 1280F	\$259.6000	\$5,192.0000	Factory Standard Colors		
044	Table, adjustable height legs, trapezoid, 30" x 30" x 60".	Allied Classic, Artco-Bell Activity #ABC-1290F or equal.	4600250-1703187	1 Each	100	Tom Sexton	Artcobell - 1290F	\$230.7000	\$23,070.0000	Factory Standard Colors		
042	Table, adjustable height legs, kidney, 48" x 72".	Allied Classic, Artco-Bell Activity #ABC-1275F or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 40 thru 42.	4600250-1713916	1 Each	100	Nu-idea School Supply	Allied #CLS472K	\$660.0000	\$66,000.0000	Florence Walnut, Studio Teak, Sterling Ash, French Pear, Kensington Maple, New Age Oak, Nepal Teak, Handspun Pearl, Handspun Dove, Handspun Slate, Crisp Linen, Classic Linen, Pressed Linen, Flax Linen, Natural Grey Felt, Green Felt, Blue Felt, Orange Felt & Yellow Felt		
043	Table, adjustable height legs, 48" diameter, round.	Allied Classic, Artco-Bell Activity #ABC-1280F or equal.	4600250-1429298	1 Each	20	Nu-Idea School Supply	Allied #CLS48CR	\$425.0000	\$8,500.0000	Florence Walnut, Studio Teak, Sterling Ash, French Pear, Kensington Maple, New Age Oak, Nepal Teak, Handspun Pearl, Handspun Dove, Handspun Slate, Crisp Linen, Classic Linen, Pressed Linen, Flax Linen, Natural Grey Felt, Green Felt, Blue Felt, Orange Felt & Yellow Felt		
044	Table, adjustable height legs, trapezoid, 30" x 30" x 60".	Allied Classic, Artco-Bell Activity #ABC-1290F or equal.	4600250-1703187	1 Each	100	Nu-Idea School Supply	Allied #CLS30TP	\$374.0000	\$37,400.0000	Florence Walnut, Studio Teak, Sterling Ash, French Pear, Kensington Maple, New Age Oak, Nepal Teak, Handspun Pearl, Handspun Dove, Handspun Slate, Crisp Linen, Classic Linen, Pressed Linen, Flax Linen, Natural Grey Felt, Green Felt, Blue Felt, Orange Felt & Yellow Felt		
Lot Item Nos.												
45-49 045	Rem/Service Table, adjustable height, chrome pedestal legs, rectangular, 24" x 48".	Description Allied TS Series Training Tables, Artco-Bell T-Leg Tables or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 43 thru 47.	4600250-1665850	1 Each	80	Vendor School Specialty	Manufacturer / Provider 1496722	Unit Bid Price \$269.4900	Total Price \$21,559.2000	Vendor Response Item Notes Laminate: Asian Night Bannister Oak, Battleship, Black, Blackbird, Blue Curacao, Candy Apple, Chrome Yellow, Classic Linen, Dove Gray, Dragon Fire, Florence Walnut, French Pear, Fresh Cut, Fusion Maple, Grape, Graphite Nebula, Gray Elm, Gray Nebula, Green, High Rise, Island, Kingswood Walnut, Magnola, Montana Walnut, Moroccan, Nayv, Nepal Teak, New Age Oak, Ocean, Orange, Pewter Mesh, Pinnacle Walnut, Portico Teak, Red, River Cherry, Robin, Royal Blue, Steel Mesh, Sunny, and Wild Cherry Lockedge: Cardinal, Ebony, Marine, Shamrock, and Titanium	Award Status	Award Notes Reject - does not meet specifications.

046 Table, adjustable height, chrome pedestal legs, rectangular, 30" x 48". Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. 4600250-1730414 1 Each 10 School Specialty 1496725 \$282.4000 \$2,824.0000 Laminate: Asian Night, Bannister Oak, Battleship, Black, Blands Pear, Fresh Cut, Fusion Maple, Grape, Grapphite Nebula, Grappe, Grapp		Reject - does not meet
Teak, New Age Oak, Ocean, Orange, Pewter Mesh, Pinnacl River Cherry, Robin, Royal Blue, Steel Mesh, Sunr Lockedge: Cardinal, Ebony, Marine, Shamrocl	Valnut, Moroccan, Navy, Nepal cle Walnut, Portico Teak, Red, ny, and Wild Cherry	specifications.
Table, adjustable height, chrome pedestal legs, rectangular, 30" x 60". Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. All Call Tables Tables Tables Tables Tabl	ire, Florence Walnut, French ray Elm, Gray Nebula, Green, Valnut, Moroccan, Navy, Nepal le Walnut, Portico Teak, Red, ny, and Wild Cherry	Reject - does not meet specifications.
Table, adjustable height, chrome pedestal legs, rectangular, 30" x 72". Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 School Specialty 1496727 \$342.6400 \$3,426.4000 Laminate: Asian Night, Bannister Oak, Battleship, Black, Bl Apple, Chrome Yellow, Classic Linen, Dove Gray, Dragon Flight Rise, Island, Kingsow Maple, Grape, Graphite Nebula, Great High Rise, Island, Kingsow Walnut, Magnola, Montana W Teak, New Age Oak, Ocean, Orange, Pewter Mesh, Pinnacl River Cherry, Robin, Royal Blue, Steel Mesh, Sunr Lockedge: Cardinal, Ebony, Marine, Shamrock	Fire, Florence Walnut, French ray Elm, Gray Nebula, Green, Valnut, Moroccan, Navy, Nepal le Walnut, Portico Teak, Red, ny, and Wild Cherry	Reject - does not meet specifications.
Table, adjustable height, chrome pedestal legs, rectangular, 42" x 60". Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. All expression Tables Tabl	Fire, Florence Walnut, French ray Elm, Gray Nebula, Green, Valnut, Moroccan, Navy, Nepal le Walnut, Portico Teak, Red, ny, and Wild Cherry	Reject - does not meet specifications.
Table, adjustable height, chrome pedestal legs, rectangular, 24" x 48". Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 43 thru 47.	Awarded	
Table, adjustable height, chrome pedestal legs, rectangular, 30° x 48°. Allied TS Series Training Tables, Artco-Bell T-Leg Tables or equal. 4600250-1730414 1 Each 10 Tom Sexton Artcobell - DTTRC3048/OTLT2A30 \$348.9500 \$3,489.5000 Factory Standard Colors	Awarded	
Table, adjustable height, chrome pedestal legs, rectangular, 30" x 60". Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. 4600250-1730415 1 Each 40 Tom Sexton Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal.	Awarded	
Table, adjustable height, chrome pedestal legs, rectangular, 30° x 72°. Allied TS Series Training Tables, Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables or equal. 4600250-1665851 1 Each 10 Tom Sexton Artco-Bell T-Leg Table	Awarded	
Table, adjustable height, chrome pedestal legs, rectangular, 42" x 60". Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. 4600250-1656332 1 Each 10 Tom Sexton Artco-Bell T-Leg Tables, Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Tom Sexton Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Tom Sexton Artco-Bell T-Leg Tables or equal. Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal. Tom Sexton Artco-Bell T-Leg Tables or equal. Tom Sexton Artco-Bell T-Leg Tables or equal. Tom Sexton Artco-Bell T-Leg Tables or equal.	Awarded	
Table, adjustable height, chrome pedestal legs, rectangular, 24" x 48". Allied TS Series Training Tables, Artco-Bell T-Leg Tables or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 43 thru 47. Series Training Tables, Artco-Bell T-Leg Tables or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 43 thru 47. Series Training Tables, Artco-Bell T-Leg Tables or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 43 thru 47. Series Training Tables, Artco-Bell T-Leg Tables or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 43 thru 47. Series Training Tables, Artco-Bell T-Leg Tables or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 43 thru 47. Series Training Tables, Artco-Bell T-Leg Tables, Artco-Bell T-Leg Tables, Or Color Supply Series (Series Training Tables, Artco-Bell T-Leg Table	pun Slate, Crisp Linen, Classic	
Table, adjustable height, chrome pedestal legs, rectangular, 30" x 48". Allied #T52448/LP45 S456.0000 S4,560.0000 Florence Walnut, Studio Teak, Sterling Ash, French Pear, Mandspun Dove, Handspun Dove, Handspun Devel, Handspun Devel, Handspun Devel, Handspun Devel, Handspun Devel, Handspun Devel, Pelds Walnut, Studio Teak, Sterling Ash, French Pear, Mandspun Devel, Handspun Devel	pun Slate, Crisp Linen, Classic	
Table, adjustable height, chrome pedestal legs, rectangular, 30" x 60". Allied TS Series Training Tables, Artco-Bell T-Leg Tables or equal. 4600250-1730415 1 Each 40 Nu-Idea School Supply Florence Walnut, Studio Teak, Sterling Ash, French Pear, Mandspun Dove, Handspun Dove, Handspun Dear, Handspun De	pun Slate, Crisp Linen, Classic	

048	Table, adjustable height, chrome pedestal legs, rectangular, 30" x 72".	Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal.	4600250-1665851	1 Each	10	Nu-Idea School Supply	Allied #T53072/LP45	\$579.0000	\$5,790.0000	Florence Walnut, Studio Teak, Sterling Ash, French Pear, Kensington Maple, New Age Oak, Nepal Teak, Handspun Pearl, Handspun Dove, Handspun Slate, Crisp Linen, Classic Linen, Pressed Linen, Flax Linen, Natural Grey Felt, Green Felt, Blue Felt, Orange Felt & Yellow Felt		
049	Table, adjustable height, chrome pedestal legs, rectangular, 42" x 60".	Allied T5 Series Training Tables, Artco-Bell T-Leg Tables or equal.	4600250-1656332	1 Each	10	Nu-Idea School Supply	Allied #T54260/LP45	\$660.0000	\$6,600.0000	Florence Walnut, Studio Teak, Sterling Ash, French Pear, Kensington Maple, New Age Oak, Nepal Teak, Handspun Pearl, Handspun Dove, Handspun Slate, Crisp Linen, Classic Linen, Pressed Linen, Flax Linen, Natural Grey Felt, Green Felt, Blue Felt, Orange Felt & Yellow Felt		
Lot Item Nos												
50-52 050	ttem/Service Table, folding deluxe pedestal style legs, rectangular, 30" x 72".	Description Correll #CF3072PX or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 48 thru 50.	Commodity Code 4600250-1713458	1 Each	Quantity 10	School Specialty	1362513	\$173.1300	Total Price \$1,731.3000	Vendor Response Item Notes Top Color: Black Granite, Gray Granite, Medium Oak, and Walnut Edge: Black, Brown, and Gray Frame: Black, Brown, and Gray	Award Status	Award Notes Reject - does not meet specifications.
051	Table, folding deluxe pedestal style legs, rectangular, 36" x 72".	Correll #CF3672PX or equal.	4600250-1714825	1 Each	10	School Specialty	1362517	\$205.0000	\$2,050.0000	Top Color: Black Granite, Gray Granite, Medium Oak, and Walnut Edge: Black, Brown, and Gray Frame: Black, Brown, and Gray		Reject - does not meet specifications.
052	Table, folding deluxe pedestal style legs, 48" diameter, round.	Correll #CF48PX or equal.	4600250-1703205	1 Each	10	School Specialty	1362520	\$328.1300	\$3,281.3000	Top Color: Black Granite, Gray Granite, Medium Oak, and Walnut Edge: Black, Brown, and Gray Frame: Black, Brown, and Gray		Reject - does not meet specifications.
050	Table, folding deluxe pedestal style legs, rectangular, 30" x 72".	Correll #CF3072PX or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: List available colors for Item Nos. 48 thru 50.	4600250-1713458	1 Each	10	Kurtz Bros	Corell CF3072PX	\$475.0000	\$4,750.0000	Currently available colors: 01 Walnut/Brown/Black, 06 Medium oak/brown/brown, 07 Black granite/black/bkack, 15 Grey granite/Grey/Grey, 16 Fusion maple/brown/brown, 52 New England driftwood/black/black, 53 Colonial hickory/black/black, Savanah/black/black, Montana granite/black/black.	Awarded	
051	Table, folding deluxe pedestal style legs, rectangular, 36" x 72".	Correll #CF3672PX or equal.	4600250-1714825	1 Each	10	Kurtz Bros	Correll CF3672PX	\$553.0000	\$5,530.0000	Currently available colors: 01 Walnut/Brown/Black, 06 Medium oak/brown/brown, 07 Black granite/black/bkack, 15 Grey granite/Grey/Grey, 16 Fusion maple/brown/brown, 52 New England driftwood/black/black, 53 Colonial hickory/black/black, Savanah/black/black, Montana granite/black/black.	Awarded	
052	Table, folding deluxe pedestal style legs, 48" diameter, round.	Correll #CF48PX or equal.	4600250-1703205	1 Each	10	Kurtz Bros	Correll CF48PX	\$571.0000	\$5,710.0000	Currently available colors: 01 Walnut/Brown/Black, 06 Medium oak/brown/brown, 07 Black granite/black/bkack, 15 Grey granite/Grey/Grey, 16 Fusion maple/brown/brown, 52 New England driftwood/black/black, 53 Colonial hickory/black/black, Savanah/black/black, Montana granite/black/black.	Awarded	